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o  IgI hoaTcil Shi I[EATT hl |

(A) & B (B) <@l TNl 9%
(C) R g (D) frE=dn e
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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A — question number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - question number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C - question number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — question number 31 to 33 are Source-based questions having three
sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A

(Multiple Choice Type Questions) 21x1=21
Fill in the blank.
The most striking feature about the location of Vijayanagara was the
natural basin formed by river which flows in a north-easterly
direction.
(A) Narmada (B)  Godavari
(C) Kaveri (D) Tungabhadra

Identify the disciple of Shaikh Nizamuddin Auliya with the help of the
following information :

o He was a great poet and musician of medieval period.
o He gave a unique form to Chishti sama.

o He introduced qawwali.

(A) Baba Farid (B) Data Ganj Bakhsh
(C)  Amir Khusrau (D) Ziyauddin Barani
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8. “gd I dfvem &1 go wd THY frkifgd § 9 fopashl Siear a3

YT g gHfud TR 2
(A) g9 XIV (B) =med IX
(C) T4 IX (D) fwfera 11

4. 9= WU H A G IAlhd FLEATHS TORNdT i 9ga Shifvg AR FHefiaiad
T ¥ Hel foehew &1 =9 hifve

A5

(A)  gfHehr (B) dfte
(C) Al (D) 378

Fie: e 397 Fac7 gheanaa qhemdal & 7 ¥, . 4 & T [ & :
frafaRad § @ SH-81 ¥4 W, 7e9 9ou § @ 7 2

(A)  AFTISAhITET (B)  IIM&si I &
(C) @i=h (D)  ITHE!
5. ¥ I A= @9 118 e 31 g8t fasmed w1 === il

et Il
(= q15%) (%97r7)

1. e ()  dffeTg

9. HEEAIYH (i) HENISE

3. hARMd Gii) fesw

4, K (iv) SR T

ﬁw :

(A) 1), 2-(ii), 3-(iii), 4-(iv) (B)  1-(i), 2-(ii), 8-(iv), 4-(i)
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3. To whom among the following did Francois Bernier dedicate his writing
“Comparing East and West” ?
(A)  Louis XIV (B) Charles IX
(C) Louis IX (D)  PhillipII

4, Identify the structural feature marked ‘A’ of Sanchi Stupa and choose the
correct option from the following :

A

(A) Harmika (B) Yashti
(C) Chhatri (D) Anda

Note: The following question is for the Visually Impaired Candidates, only in
lieu of @. No. 4 :

Which one of the following stupas is located in Bhopal, Madhya Pradesh ?

(A) Nagarjunakonda (B)  Shahji-ki-Dheri
(C)  Sanchi (D) Amaravati
5. Match Column I with Column II and choose the correct option :
Column I Column I1
(Ancient Temples) (Locations)
1 Deogarh (i)  Tamil Nadu
2 Mahabalipuram (i)  Maharashtra
3.  Kailashnatha (iii)  Bihar
4.  Barabar (iv)  Uttar Pradesh
Options :
A 1-G), 2-(1), 3-(dii), 4-1v) (B)  1-Gi), 2-(i1), 3-1v), 4-(1)
(C)  1-Gv), 2-(1), 3-(ii), 4-(iii) (D) 1-Gid), 2-\v), 3-(1), 4-(i1)
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10.

11.

gSWT o fHaTg o dliel & 91 # fAefcfga 9 9 -1 s2d 98 787 8 2
(A) 9okl THEl @ &4 dal & Yfd&d (J99 guglaar) JaTs i 3 L @ |
(B) THHIU T A W31l & g THg q HEC o I AH ! 300 A § |
(C)  SIHMIEH, INGes H Tl & a2y firet & |

(D) Tau o o= & o TR Somw e §

qIfoT <At qEdes ‘s7eereyr? fefaRad § § fhe fowe W eati@ B 2
(A  9Uuu (B)  SHTRLT

o

(C) v (D) fuferean (smgek)

o 0

feafeiad Sl Al "grdr 8 YN 991 <hl 989 it

e IEH W W4 & faes IR foRU |
o  TIfEA % HTEAW ¥ I b S(@™ T GAMHI fohaT ST Fhal 8 |

o BNET T Ueh WM o AgI IR Hid I |

(A) = o (B) HrqaTed a1
(C)  HuU aN (D) T« aW

A TSy ¥ getia FefaRad seEt @i afen

1.  HY o [ & GIY-H1Y 0 AIHTST 61 369 g |
II. == |9, O1F 9T o G o |

III.  ifeed Igia U & ITUsRt & |

IV. 379 S5 A s T 9 |

STYh H ¥ SH-H HH T 7 ?

(A) I3 III (B) IRII

(C) ISR IV (D) II3R III

‘T wRT 3TTH FSTT 3MHIITIo e h @ METARgd § d i g ?
(A)  SI9 A (B) &1 U wTEA

(C) TAT. Ud (D) 3L3.TH. SEIe

feafeRad foeredl § O Gfaa 991 & 39 o TTAfHeh HIUT <hl 989 hiIfoT
(A)  9Tdl o I & fau e faurft e it weamg
(B) WS % HIEAH § WA oh [AWTSH o HEl ohl AT

(C)  3TUSH o T WA <hl T&dadl <hl Idl W STd=id shi]
(D) Todd YR o I & U Tk A dIR HET

61/2/3-12 Page 6 of 23




NN\

6. Which of the following statements is not correct about the subsistence
strategy of Harappa ?
(A)  Terracotta sculpture of oxen indicates ploughing.
(B)  Two sets of furrows at right angles indicate two cropping patterns.
(C)  Traces of canals have been found at Shortughai, Afghanistan.
(D)  Deep water reservoirs have been found in Sindh for irrigation.

7. Panini’s book ‘Ashtadhyayi’ is based on which of the following themes ?
(A)  Puranas (B) Grammar
(C) Mathematics (D) Medicine (Ayurveda)

8. Identify the ancient dynasty with the help of the following information :

o They issued spectacular gold coins.

o Their history can be reconstructed through Prashastis.

o Harisena was the court poet of one of its rulers.

(A) Chola dynasty (B) Satavahana dynasty
(C) Kushana dynasty (D)  Gupta dynasty

9. Read the following statements about the Mauryan Empire :
I. The growth of Magadha culminated in the emergence of the
Mauryan Empire.
II. Chandragupta Maurya founded the Mauryan Empire.
III. Kautilya was the successor of Chandragupta Maurya.
IV. Asoka was the son of Chandragupta Maurya.

Which of the above statements are correct ?
(A) TandIII (B) TandlII
(C) IIlandIV (D) IIandIII
10. Who among the following is the author of the book ‘The Story of Indian
Archaeology’ ?
(A)  John Marshall (B) Daya Ram Sahni
(C) S.N. Roy (D) R.E.M. Wheeler

11. Identify the primary reason behind the formation of the Constituent
Assembly from the following options :
(A) To establish a legislative body for the governance of provinces
(B)  To settle issues of Partition of India through coordination
(C)  To negotiate the terms of India’s independence with the British
(D) To draft a framework for the governance of independent India
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12.

13.

14.

1857 % fagig & Aarstt (et 1) & 39 Hegi (e 1I) & @re gafaa hifve
IR FrfaiRea § 9 @&t fashew o1 =3 Shifre

gl I gl
(e1) (#7%)
1. ST GTfEs (i) @Y
9. D T4 (i) HHEER
3. TG 3Tl w8 (i) fo@r
4. TorfSa &g (iv) &>
IEETR IR
(A)  1-(ii1), 2-(1), 3-(ii), 4-(iv) (B)  1-(ii), 2-(iii), 3-(1), 4-(iv)
(C)  1-(iv), 2-(ii), 3-(iii), 4-() D)  1-(i), 2-(iv), 3-(ii), 4-(iii)

frfaRad # 9 Sras gaRd H TSI g AR i T8 AT Jurell i el
forRrwar sH-E off 2

(A) THIGRT % HIead B STIcTe Toked Seel!

(B) UM HHSH g YW 1 GF[eh W

(C)  3TSH 1 WY fopaTT 6 TY ToTEa THEhT

(D) IHFAT S 9&H % TIT Y JaERT ol ¢l

@ 11 ¥ fou 7o dfagm |91 o G hl yiierstl o1 a9 1H fu 11 39 ami
ﬁﬁlﬂ'ﬁ@ﬁﬂl:

Ty I Ty Il

(G5 (GlaerT a1 § YiHe)
1. Telg 96 (i)  T&T IHhR
2. TE.W. g@si (i)  Hfae 991 % 3Teae
3. SR I8% (iii) HaYeh TATERN
4. . T (iv) Gfgam aur ¥ 339 T qiid fopam
IEETE I
(A)  1-(1), 2-(i11), 3-(i1), 4-(iv)
B) 1-311), 2-(1v), 3-(1), 4-(ii1)
(C)  1-@i), 2-(1), 3-(i1), 4-(iv)
(D) 1-311), 2-(1), 3-(1v), 4-(ii1)
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12. Match the Leaders of the Revolt of 1857 (List I) with their Centres
(List II) and choose the correct option from the following :

List I List 11
(Leaders) (Centres)
1. Nana Sahib (i) Awadh
2.  Kunwar Singh (i1) Kanpur
3. Wajid Ali Shah  (iii) Bihar
4. Birjis Qadr (iv) Lucknow
Options :
(A)  1-(i1), 2-(1), 3-(i1), 4-(iv) (B)  1-Gi1), 2-(ii), 3-(1), 4-1v)
(C)  1-Giv), 2-(i1), 3-(iii), 4-(1) (D) 1-G1), 2-(\v), 3-(ii), 4-(iii)

13. Which of the following was the primary characteristic of the Ryotwari
system implemented by the British in ‘Bombay Deccan’ ?
(A) Indirect revenue collection through zamindars
(B)  Collective ownership of land by village community
(C)  The Britishers settled revenue directly with the peasants
(D) Lands were given to the Jotedars to promote equality

14. Match the roles of the members of the Constituent Assembly given in
Column II with their names in Column I :

Column I Column I1
(Members) (Role in the Constituent Assembly)
1. Rajendra Prasad (i) Chief Draughtsman
2. S.N. Mukherjee (i1) President of the Constituent Assembly
3. Jawaharlal Nehru (iii)) Constitutional Advisor
4. B.N.Rau (iv) Passed the Objectives Resolution in the
Constituent Assembly
Options :

(A  1-G), 2-(iii), 3-(i1), 4-(1v)
B)  1-G1), 2-(iv), 3-(1), 4-(iii)
(C)  1-Gib), 2-(1), 3-(i1), 4-(iv)
(D) 1-G1), 2-(1), 3-(iv), 4-(ii1)
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15.

16.

17.

18.

19.

FAfeiigd ® & M IR TS HEE o SERATICAT o g & Fared o ?
(A) 9T TR faeres (B) AT ATSYd T
©) faftm =g ama (D) T FT MG

1857 o fagig o wefaq fafafagd =e1et i SicishiHeh HH H sHafed Hifve
IR Ffeafad § @ g8t faeey =1 =2m HifSw

I. 3aY H ThHYYd g

II. 399 H T gie

1. faform sfée &t gararg At

IV. STSETG Syor

forerey
(A)  ILIIL I IV (B) IILIL IV, I
(C) L IILIV,II (D) IV, L II III

= @ e fou MU E, SAfeed (A) 3R WU (R) | 3 SIS dfeT IR
et faered 1 ==F FifvT
SfIFHYT (A) : TEIHE] deiaed H FHIER TS AN hl 37eT 981 o I 37
SehTIT TohH Sad] T8 |
FRU(R): A fafa (Fr@) o IR, A Ffvaa ol &1 9@ ora
BH T YIAE @ AT o7 A WHIGR! i Hiam Rt feam S
ehT T |
(A) 3R (A) 3R RO (R) HT T&l 8 3 SR (R), 3fiepeq (A) 6t
T IR LT 7 |
(B) MM (A) 3R HRU (R) GHI W&l &, T BRI (R), AR (A) i
g e 77T w8 |
(C) FAfrhe (A) E& 8, T %Rl (R) Teid & |
(D) SAfYHAT (A) Tad &, Tg SR (R) Tl 2 |

3T o IMEA H Y & il o gayg § efaad § § SH-91 ST T8
gAfad 7 2

(A) 9IS : | S8l FAHT @l gt off |

(B) It : W &l uiw 9w ¥ WAt &l I TE |

(C) TR : Y[ T8l T a9 § @l 8l ol TS |

(D) SR : 9 &l I 991 § @l Tl i T |

o

fefcIRad W € oh8 GTHTsT i “Shfceh TTHSTY el Al o1 ?
A) =R (B) g
©) = (D) fasRR
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15.

16.

17.

18.

19.

Who among the following belonged to the group of ‘Moderates’ of the
Indian National Congress ?

(A) Bal Gangadhar Tilak (B) Lala Lajpat Rai

(C)  Bipin Chandra Pal (D)  Gopal Krishna Gokhale

Arrange the following events regarding the Revolt of 1857 in
chronological order and choose the correct option from the following :

I. Summary Settlement in Awadh

II. Subsidiary Alliance in Awadh

III. Reforming policies of William Bentinck
IV. Azamgarh Proclamation

Options :
A ILIILI IV (B) IILILIV,I
C) LIILIV,1I (D) IV, L 1II,III

Two statements as Assertion (A) and Reason (R) are given below. Read
them carefully and choose the correct option :

Assertion (A) : Zamindars in the Permanent Settlement failed to pay the
revenue demand and unpaid balances accumulated.

Reason (R):  According to the Sunset Law, if payment did not come in
by sunset of the specified date, the zamindari was liable
to be auctioned.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of the Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D)  Assertion (A) is incorrect, but Reason (R) is correct.

Which of the following pairs is correctly matched regarding the
classification of lands under Akbar ?

(A) Polaj : Land which was cultivated annually.
(B) Parauti : Land uncultivated for five years.

(C) Chachar : Land left uncultivated for a year.

(D) Banjar : Land laid fallow for three years.

Which of the following empires was called “Karnataka Samrajyamu” ?
(A)  Chera (B) Pallava
(C) Chola (D) Vijayanagara
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20.

21.

22.

23.

24.

25.
26.
27.

31 ST 4 HRA I AW %k GRE TRE THE IR B Th 91 AKX, (a9
STETET AT 9T YA § 9oy S oqm |

(A) cadETg (B) 3T

(C) oAkl (D) feoeht

ffafaa @ & forg orifcamel e 9 16a R 178 waedl % RE
ATHTST 9 hTHI THTE STAT 3T AEqUl Y{iehT FHHTS ?

L. gl H g

II. /@8 ¥ 3EM

[II. <7 H e

V. TeH | %A

Torepe

(A) II III 3R IV (B) I, II3R III

(C) LIIARIV (D) I, IR IV

Qs @

(T -3 TR o I9) 6x3=18

(%) SIS fAfy i Tk weawd foAfd =it gl a1 8 2 T Hif |
HAYAT

(@) s hl I eprelt Joredt s f=ifora 3R |qul &= /HT ST 8 2 ¥9s
HIT |

“@31 N Reft waTect €Y, F fi= Ty HoH AR HETYE 99 W |7 59
HIA hl ISR Gfgd e hIfSu |

(%) ToSETR 9T % WHH ok 9 H HWCT T hi YR w1 fawerwo
HIfTT |

HAAAT

(@) TR asa & 8= R JemEfe e | TR AR YUl st W

T |
et UTHIOT FETS H g bt firent s fagetyor i |
1813 hl uTe=rdl fuld < auTal=-TcHs W@ HIfT |
1857 o fagig H T%aral iR Wiasrariordl St fieht sl auia Hife |
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20. During Ibn Battuta’s travels in India, which prominent city did he visit
and describe as ‘a vast city, with a great population, the largest in India ?
(A) Daulatabad (B) Agra
(C) Calcutta (D)  Delhi

21. Which of the following tribal kingdoms exerted considerable influence
and played a significant role in the Mughal Empire during the 16t and
17tk centuries ?

I. Lohanis in Punjab
II. Ahoms in Assam

III. Koch in Bengal
IV.  Kols in Singhbhum

Options :
(A) II, III and IV (B) I, II and III
(C) ILIIandIV (D) L IIlandIV
SECTION B
(Short-Answer Type Questions) 6x3=18
22. (a) Whyis the Harappan script called an enigmatic script ? Explain. 3
OR
(b) Why is the Harappan drainage system considered a planned and
complete drainage system ? Explain. 3

23. “Between the sixth and the fourth centuries BCE, Magadha became the
most powerful Mahajanapada.” Explain the statement with examples. 3

24, (a) Analyse the role of Krishnadeva Raya as the ruler of Vijayanagara
empire. 3
OR
(b) Examine the ‘Amara-nayaka system’ in the military and
administrative structure of the Vijayanagara empire.

25. Analyse the role of Panchayats in the Mughal rural society.
26. Critically examine the Fifth Report of 1813.

L W W W

27.  Describe the role of rumours and prophecies in the Revolt of 1857.
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28.

29.

30.

31.

Qug
(Srd-STHT TR & T9) 3x8=24

(%) “Sfaem@sii 7 TRIYRG $Id % QA JTRATEh deH o g |l 3R
faftm gorett &1 1eyam foran 2 17 39 +e &l Inen 3| gfed

T | 8
HAAAT
(@) “vu fafvw o & 59 W 3fagmerl 3 98 &1 favemor fomn 8 iR
3 Ueh TARiil U el 8 |7 39 A hl ISR dfdd AT it | 8
() fTormaa wtuw i freman 37K g9 1 auig Shifs | 8
JrraT
(@) WHEIH YR | Witk 3Meie o ey d fiuaE & Sfed 3 JNeH 1
Ui T | 8
(%) YR Taaar 99y § TSt 6t YT % a1 § - o e fafis |
3 | T SFifu | 8
HAAAT
(@) YRa ! Taaaal o a1g fofys ageEi o = i R dgua 61 agTelt
H TieftSit <t ofteht v foweror i | 8
wus Y
(Era-3TTeTRa I9 ) 3x4=12
fqu 7w &1q @l eagEs qfeu R = fou e gw i o I T 1+1+2=4

B Toh Tad G9Y TURSY shi AT 61 g AR Ifed Hehod o1 8 | HRA 1
Y BT T 7 | ORI T BT 3R TS A1 o TR B | O
il 3 waTa 33/ B “IM9H F@T Alehdreh reg FT A8l W 27 B 3 el
7 Top fiTddg o8 9= S wehal & foh i3 TORST Alhaite 9 81 T gHW U
sfoeTa 59 e 1 T1aft B o6 g0 Alehdifties Temeti % & Uen § | T §
5 g &g Ahad B | <ihad § A F© Ht T | T8 Alhad HaT B,
3Gh! T[T hell BN, I8 Teh ST HHAT & | TS o AlhelAl A GHAT <hl
I | SeNGEd Y[R WIS 8 3R 36 8 §gd €1 JUY q1 317 T 6 oFl
8 | Tg Ig HegeHh &l Thal § foh 3TN I=g U TE AlhAI=h & L& & al o
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SECTION C
(Long-Answer Type Questions) Ix8=24
28. (a) “Historians have studied many rules and varied practices of
familial ties during the Mahabharata period.” Explain the
statement with examples. 8
OR
(b)  “There are various elements on which historians have analysed
Mahabharata and called it a dynamic text.” Explain the statement
with examples. 8
29. (a) Describe the teachings and philosophy of Lingayat tradition. 8
OR
(b)  Describe the life and contribution of Mirabai in the context of the
Bhakti Movement in medieval India. 8

30. (a) There are various sources to know about Gandhji’'s role in the
Indian freedom struggle. Explain. 8

OR

(b)  Analyse the role of Gandhiji in the restoration of peace and
harmony among various communities after the Independence of
India. 8

SECTION D
(Source-Based Questions) 3x4=12

31. Read the given source carefully and answer the questions that follow :
1+1+2=4

We say that it is our firm and solemn resolve to have an independent
sovereign republic. India is bound to be sovereign, it is bound to be
independent and it is bound to be a republic ... Now, some friends have
raised the question : “Why have you not put in the word ‘democratic’
here. ?” Well, I told them that it is conceivable, of course, that a republic
may not be democratic but the whole of our past is witness to this fact
that we stand for democratic institutions. Obviously we are aiming at
democracy and nothing less than a democracy. What form of democracy,
what shape it might take is another matter. The democracies of the
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ST el 34 TAIhaA] bl A WMo -FAd AS! 95d Sger! qdl | H A1 Ll §
Tor Tort) SR SAThaI=eh <31 <hl Ueh WIE Alehdi=ieh JuTTedt 3T fopeft Teem fomiy
I g % Tohdd L el 6l & | B Thdl @ T gH I9H Se $© & ¢ |
wgter, foret oft g@ #, 0 78l S =R TR s, 98 gAR Al % T
% ITTEY N ITeh] ThE e BT ATET | §H Ahad o &b H & | I8 39
TEA I T BT § foh 39 Alohas, IUTGH SAlhas ol TG€Y hdl BT | & 39
§1d bl @ Hehdl & T 39 Td H g0 “Alhditieh I6C ol SEAHTA ol
fopar 3 ifeh 84 o foh I8 ot TavTfeh & B fop “URsy” wee U 98 Wee
Tga & Tifgd giar 8 | 39T §9 T AR TN Seqi T T 71
ST IEd ¥ | 804 ecl ok IYANT U U kel sAel O fear 2 | g 5™
JEA H ARRdA i Aqae] TEd ohl g | Sicsh ollehdd ohl &l i, SMeh
A <l TqaE] T 61 8 |

GiT : GIFeTT T 989 (CAD), G 1
(31.1) & H 3k G¢ IR Ul Fhed I Ig@ hiT |

(31.2) Hid forT TR diehdd & Ifd Jfdagdl W S a1 8 ?
(31.3) 3 GId H Alhdd shl <A1 TUids & @y | forg yr I T8 2 2

fqu 7w =a =l egEs afer R = fou e ge i o I T 1+1+2=4

Frafaard o HifderaTdt ?

Tl &M g7 fdgeh W Tor 791 gl ¢ @ 8 | 38 WY o TS Saay IR G
% off ST w1 9 foRm 7 |

T SR TS AGAET §g 6 I8 ¢ R IgH FF@iel T T8 Toh 3T
fRrers bl aTd 9qTs ¢

“FreAttsr Fhgue o I8 T +id © Toh 39 I ... 39 que 9 § A
e &, T@ 3I7g1 h1al bl hich YR-€R HH Gtk i IHHIG HAT | gHI § &
HIE FB Ta1 B ThdT | @ 1R g@ A gd Feifia wen § A e fow e
TH TUR § ST T8l S Gehdl | 38 QT I1 USHT Fal ST Hehdl | 99 €T Al
Tl heh ¢ W Jeohd-ggehd AT I T8 dh Gadl Il & 36 W@ 7@
3R g ot € gd fuifa Tea & 23U gEt & frem w17
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present day, many of them in Europe and elsewhere, have played a great
part in the world’s progress. Yet it may be doubtful if those democracies
may not have to change their shape somewhat before long if they have to
remain completely democratic. We are not going just to copy, I hope, a
certain democratic procedure or an institution of a so-called democratic
country. We may improve upon it. In any event whatever system of
government we may establish here must fit in with the temper of our
people and be acceptable to them. We stand for democracy. It will be for
this House to determine what shape to give to that democracy, the fullest
democracy, I hope. The House will notice that in this Resolution,
although we have not used the word “democratic” because we thought it
is obvious that the word “republic” contains that word and we did not
want to use unnecessary words and redundant words, but we have done
something much more than using the word. We have given the content of
democracy in this Resolution and not only the content of democracy but
the content, if I may say so, of economic democracy in this Resolution.

Source : CONSTITUENT ASSEMBLY DEBATES (CAD), VOL. 1
(31.1) Mention the ‘firm and solemn resolve’ expressed in the passage.
(31.2) How does the passage emphasize the commitment to democracy ?

(31.3) How is democracy explained in the context of republic in the
passage ?

Read the given source carefully and answer the questions that

follow : 1+1+2=4

Fatalists and materialists ?

Here is an excerpt from the Sutta Pitaka, describing a conversation
between King Ajatasattu, the ruler of Magadha, and the Buddha :

On one occasion King Ajatasattu visited the Buddha and described
what another teacher, named Makkhali Gosala, had told him :

“Though the wise should hope, by this virtue ... by this penance I will
gain karma ... and the fool should by the same means hope to gradually
rid himself of his karma, neither of them can do it. Pleasure and pain,
measured out as it were, cannot be altered in the course of samsara
(transmigration). It can neither be lessened or increased ... just as a ball
of string will when thrown unwind to its full length, so fool and wise alike
will take their course and make an end of sorrow.”




3R 3TSAA hHehdTo THe (e  Ig IUSI TG
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AT 3 T H, THT JIAT W AT H, TG I A 91Y H 9" WA S B
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TF ¢ hl 91 @I I MG 7, GEdl 33 & ... §@ &l A1 fagH qHl & e

TS B A 3 | Geg o 971G hig gl s=al |7

W TR o IUCIh ATk TOU o ¥ | I8 JAHKI HI(daTe] gl Sdl
3 — W A S fova® w9 6 ww oo q@ Ruifia & | i w=mw % sweees
AR WO & 9 g amd: fifdesard s ST @ | 39 eifae wuust %
T 9% B T 2 | 3EfeTT BH 31 Wuush @ F 3 a1 H SR fierd B |

(32.1) HH W FH@A M % fo=mi 1 fawewor Hifvrw | 1
(32.2) TSI hEhalH - AT 1 Yehld o IR Al o A9 &Y i fohd
TehR FfTa feparm 2 1
(32.3) 30 @Id & Hed H Ffdard ot wifdsrard & foemi o st oI
HIFT | 2
33. feu u Hid I eaHgEes ufgu 3 = fou 7wyl & S @ 1+1+2=4
WA o fowg | o 1 i 3 ga R

YRA o faw § f=mi &1 g9 3R T9R L JUUTE AR o6 Jardi 5 36
J&hl < ThIH R TER & HIegW § JUUT ANl o ot wia i T i 6
g § Gl i | 916 H, 1750 % ¢, 9 WG SaaHe a1 Wl o1 arfed
S WA 9 A9 T AT AT AT I JAGT AN Sl HRATT FHIS <hl Bfd 1
AT ST UST M 373 qeal bl YT STl SATRTT o HIe9H § 39 JHTferd
FHH T JIE R 3R YR Sl HEH TS T |

(33.1) Y@ sfougeA i first o1g arfe 9 wwa & ufa O gewr

fehd SRR I &1 ? 1
(33.2) HEhH YRA W WU oi@ehl g1 @l T3 Thel Th J&ah ol

3STE QI | 1
(33.3) JUTI GRI T*qd HRA ohl Bl R AR h TR o ST FgYol

ARl TR HINT | 2
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And this is what a philosopher named Ajita Kesakambalin taught :

“There is no such thing, O king, as alms or sacrifice, or offerings ...
there is no such thing as this world or the next ...

A human being is made up of the four elements. When he dies the
earthy in him returns to the earth, the fluid to water, the heat to fire, the
windy to air, and his senses pass into space ...

The talk of gifts is a doctrine of fools, an empty lie ... fools and wise
alike are cut off and perish. They do not survive after death.”

The first teacher belonged to the tradition of the Ajivikas. They have
often been described as fatalists : those who believe that everything is
predetermined. The second teacher belonged to the tradition of the
Lokayatas, usually described as materialists. Texts from these traditions
have not survived, so we know about them only from the works of other
traditions.

(32.1) Analyse the views of Makkhali Gosala on karma.

(32.2) How did Ajita Kesakambalin describe the relations of human
beings with the four elements of nature.

(32.3) Differentiate between the views of a Fatalist and a Materialist in
reference to this source.

Read the given source carefully and answer the questions that

follow : 1+1+2=4

The creation and circulation of ideas about India

The writings of European travellers helped produce an image of India for
Europeans through the printing and circulation of their books. Later,
after 1750, when Indians like Shaikh Itisamuddin and Mirza Abu Talib
visited Europe and confronted this image that Europeans had of their
society, they tried to influence it by producing their own version of
matters and described India as a great nation.

(33.1) In what way did Shaikh Itisamuddin and Mirza Abu Talib
challenge the version of Europeans towards India ?

(33.2) Give any one example of a book authored by European writers on
Medieval India.

(33.3) Explain the significant difference between the image of India
presented by Europeans and the versions of Indians.
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34. (34.1) WRAh U T TSI WI-AFRH (T8 23 W) H, FH=faRad i
3T Tl § 3ifeha hIfT TR 3 A ToaifaT - 3x1=3

(i) 9rAE - T foefad gevn gueaa

(i) I= - HESHIG

i) (%) U - Ged & I &
HAAAT

(iii) (@) TIeRIeT

(34.2) WRA % 381 TSHITdeh (@I-AHRE W AR T TGl § Faled ol

*gl @ A 3R B ¥ 2Afehd fham M 2 | 3R dgEHU 3R I fehe
i 78 Warst W Ha AW il |

HE7(TiEa 5797 @acT glteamiaa qaemaal & 77 3. d. 34 & &7 W E :

(34.1) ST A o fohrgi Q1 JUEAT! I Ioci@ I |
(34.2) (%) Tl & 1efi foheht Th & +1 Seaig HIVT |

AT

(34.2) (@) TaoITR a=T & fhdll T TS T 1 Ieoi@ HINT |
(34.3) MR TS 3T o foheal Q1 hrgl o1 Il hifT |
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SECTION E
(Map-Based Questions) 5

34. (34.1) On the given political outline map of India (on page 23), locate
and label the following with appropriate symbols : 3x1=3

(i) Dholavira — A Matured Harappan site
(i1) Ujjain — Mahajanapada

(iii)) (a) Panipat — Territory under the Mughals
OR
(iii) (b) Golconda
(34.2) On the same outline map, two centres related to the Indian

National Movement are marked as A and B. Identify them and
write their correct names on the lines drawn near them. 2

Note: The following questions are for the Visually Impaired Candidates,
only in lieu of Q. No. 34 :

(34.1) Mention any two Harappan sites. 2
(34.2) (a) Mention any one territory under the control of the Mughals. 1
OR
(34.2) (b) Mention any one neighbouring state of the Vijayanagara
empire. 1
(34.3) Mention any two centres of the Indian National Movement. 2
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